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1-1) 1-2)

Loy -« Uy tU,, =X +2Y, O<x <7z,0<y <7

tt XX '

u O<x <7#,t >0

U(X,0)=2 U (x,0)=x +1 u(x,0)=x u(x,z)=2 0<x <~

1-3) 1-4)
Uy =U, — X, Qu,, =u, +xt, O0<x <1 t>0
5
u(0,t)=20 U(l,t)=g u(o,t)=t u(@t)=1
u(x,O):—%x3 u(x,0)=2x
1-5)
u, =u, -e"'Sin(3x), O0<x <z t>0

u(o,t)=20 u(z,t)=1
u(x,0)=x— u,(x,0)=0
T
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2-1)

u, +u, =x+1, 0<x <a,0<y<b

u@,y)=u,(x,b)=u,(x,0)=0
u(a,y)=a(y)

2-2)

U, +U,, =Xy, O<x <7z,0<y <1

XX

u(@@,y)=u(z,y)=0
u(x,0)=0 u((x,1)=0

2-3)

Viu=1 0<x <7,0<y <7

u@,y)=0 u,(zr,y)=0 0<x <=«
u,(x,z)+hu(x,z)=x? U/ x0)=0



